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1. OIUC HABYAJILHOI TUCIUTIITHA

Mera MeTta BUBYEHHS 1HO3EMHOi MOBH Yy HEMOBHOMY BY31 —
MIATOTYBaTH CTYJCHTA JI0 YATAHHS aHTJIOMOBHOI JIiTepaTypH 3a
¢daxoM, CHITKyBaHHS aHTJIIMCHKOIO MOBOIO B PI3HHUX BHAAX
MOBHO{ JiSZTBHOCTI, MOXJIMBOCTI BUKOPHCTAHHS aHTJIHCHKOT
MOBH y PAKTUYHHX ITIJISIX.

KomnerentHicts | E: K05 3maTHICT CHUJIKYBaTHCS 1HO3EMHOIO MOBOIO.

PesynbTar E: PO51 YMiTu croijKyBaTucs 1HO3EMHOIO MOBOIO B HAyKOBIH,

HaBYaHHS BUPOOHUYIHN Ta COIIaIbHO-CYCIIBHIN cdepax MisIbHOCTI.

E: PO52 YmiTu  BHUKOPUCTOBYBaTM CydyacHl iH(opMaliiHi
pecypcH 3 MUTaHb €KOJIOTii, MPUPOAOKOPUCTYBAHHS Ta 3aXUCTY
JOBKIJIJIS.

ba3oBi 3HAHHSA

3HaTH.

1. I'pamatuyHi paBuiIa, rpaMaTUYHI KOHCTPYKIIT J1s
YCHOTO Ta MUChbMOBOTO MEPEKIIay aHTJIOMOBHHUX TEKCTIB
Ta BUKJAy 1HGOpMAIlii;

2. JlexkcwuHWY MiIHIMYM OJMHHITH 3 TPOTPAMHUX TEM KYpCYy.

ba3oBi BMiHHA

Bwmitu:

1. MOSICHIOBATH IpaMaTU4HI MPaBUIIA;

2. BIII3HABATH, PO3PI3HATU Ta MEPEKIaJaTH PiI3HOMaHITHI
rpaMaTH4HI KOHCTPYKIIIi;

3. PO3YyMITH MOHOJIOTIYHI TIOBIOMJIEHHS 3 3aCTOCYBAHHSIM
MEBHUX TPaMaTUYHUX KOHCTPYKIIiif;

4. 3aCTOCOBYBATH I'paMaTUYH1 IIpaBuiia Ta KOHCTPYKIII B

NepeKsaal TeKCTIB, JIAJIOTTYHOMY MOBJICHHI Ta Ha MUCHMI.

ba3oBi HaBUYKH

1. BukopucTtoByBaTH TrpamMaTH4HI MpaBuiia MJid MEpeKIaxy
TEKCTIB 3 aHIIIMChKOT MOBHU y MPAKTHUYHUX LUISIX.

2. BxwuBatu rpaMaTHyHi KOHCTPYKLII B YCHOMY MOBJIEHHI Ta
nepeKasi TeKCTIB 3 MPOrPaMHUX TEM KYpCY.

[ToB’s13ani
cuiiadycu

«IHO3emMHa MoBa 3a podeciitHuM cpsiMyBaHHSAM» | p. H.
(1cemectp, 4 kp.), 2 p.H.,

[Tonepenus
JTACLIMILTIHA

Hacrtynna
IUCLHUILIIHA

KinpkicTs roaun

JIEKITIi:

npakTu4Hi 3aHaTTs: 75y |l cemectpi;
71a00paTOPHI 3aHATTS:

CEeMIHApChK1 3aHSTT:

camocTiiiHa po6ota cryaenTis: 135 y Il cemecTpi;




Il cemecTp

2. MIPOI'PAMA HABYAJIbHOI JUCLUILJIIHU

2.2. llpaktuuni moaymi Il cemectpy

Kinekicts rogua

Kon HazBa moaysst Ta Tem aymuTopri | CPC
3M- 12,5 18
15 | 1. a) The Ecosystem. Famine and Flood. 25 4
b) ITepexmnan Tekcry 3a paxom (8000 ap. 3HaKiB) | 2,5 4
c) [lepeknaa CycHiabHO-TMOMITUYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: The Infinitive 4 3
2. MopynbHa KOHTpOoJIbHA po6oTa Ne 5 1 3
3M- 12,5 19
I16 | 1. a) Global Warming. Kyoto Revisited. 2,5 4
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 4
¢) Ilepexnan cycninbHO-MOMITHYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: The Gerund 4 4
2. MoaynbsHa KOHTpoJbHA poboTa No 6 1 3
3M- 12,5 19
I17 | 1. a) Natural Wonders of the World. 2,5 4
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 4
¢) Ilepexnan cycnibHO-MOMITHYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: The Participle 4 4
2. MoaynbpHa KOHTpoJibHA poboTa Ne 7 1 3
3M- 12,5 19
I18 | 1. a) Decision-making on the Solution of Ecological |2,5 4
Problems.
b) Ilepekian Tekcty 3a paxom (8000 ap. 3HAKIB) 2,5 4
¢) Ilepexnan cycnibHO-MOMITHYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: The Conditional Sentences 4 4
2. MoaynbpHa KOHTpoJbHA poboTa Ne 8 1 3

4




noHe oK 9.00 — 13.00, ayauTtopis 607.;

BiBTOpOK 9.00 — 13.00, aynutopisa 607.;

[lToroBa-Hikonenko 'anna BacuiiBHa, 10LIEHT, K. (17101, HaYK, JIOLICHT,

3M- 12,5 19
I19 |1. a) Strategy of National Ecological Policy of 2,5 4
Ukraine Until 2020.
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 4
c¢) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: Indirect speech 4 4
2. MoaynpHa KOHTpoJbHa pobdoTa Ne 9 1 3
3M- 12,5 19
I110 | 1. a) State ecological monitoring. 2,5 4
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 4
c) [lepeknan cycniibHO-MOMITUYHOTO TEKCTY 2,5 4
(2500 mp. 3HAKIB)
d) Grammar: Subjunctive mood. Revision. 4 4
2. MoaynpHa KoHTpoabHA podoTa Ne 10 1 3
3M- | [IucemoBUii niepekIIaa 2
I3
Icniut 20
75 135
Pazowm:
KoncynpTarii:
1. IT’snoBa [3a6emnna KOpiiBHa, 3aB. kKad. IHO3eMHUX MOB, K. (P1J10J1. HAYK, TOIICHT,

Kynenina Onbra FOpiiBHa, cT. Buknamad, cepena 9.00 — 13.00, aynuropis 607.




2.3. CamocrTiiiHa poboTa cTyZieHTa Ta KOHTpoabH1 3axoau y |l cemectpi

Kon ) KigbKicTh Ctpok
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX0I1
MOIYJISt TOJIMH | TPOBEACHHS
3M-II5 18 1-3
THXKJIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 4 1 TwxneHp
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMAIIIHBOTO YUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOIYJIBHOI 4 2 THXKIEHD
KOHTPOJBHOT po6oTH Ne 5 (060B’3K0BE)
Konmponwvni 3axoou:
o YCHe onMTYBaHHS 4 2 THXKJIEHD
o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB 4 3 THXIEHb
HE3HAMOMHMX CJIiB Ta iX MEepeKIIa I YCHOTO
NepeKIIaay TEKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHUX 2 3 TUXKICHD
rpaMaTUYHUX BIIPaB
e MonynbpHa KOHTpOJIbHA poboTa Ne 5 3 TWXKIEHB
3M-I16 19 3-5
TH)XIEHb
o [linroToBKa /10 YCHOTO OMUTYBaHHS, 4 3 TIKIEHD
MIArOTOBKA rPaMaTUYHOI TEMHU Ta M1ArOTOBKA
JIOMAIIHBOTO YHUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI 4 4 THXKIeHb
KOHTPOJIBHOT po60TH Ne 6 (060B’s13K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHSA 4 4 THXKJIEHD
o [lepeBipka MMCHbMOBO BUKOHAHUX CIIUCKIB 4 S THXKIEHb
HE3HAHOMUX CIIIB Ta iX IepeKIa 1isl YCHOTO
NepeKyaay TeKCTiB
« [lepeBipka MMCHBMOBO BUKOHAHHX 3 S THKIEHD
rpaMaTUYHUX BIIPaB
o MoaynbpHa KOHTpOJIbHA poboTa Ne 6 S TUXKIIEHb
3M-I17 19 6-8
TH)XIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 4 6 THKIEHD
M1rOTOBKA rpaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAIIHHOTO YUTAHHS
e [linroTOBKA JO BUKOHAHHS MOTYIHHOL 4 { THKIEHD
KOHTPOJIbHOT poO6oTH Ne 7 (060B’SI3K0BE)
Koumponwoni 3axoou:
e YCHE ONIUTYBaHHSA 4 { THXKIEHD




o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB 4 8 THXIeHb
HE3HAMOMMX CJIIB Ta IX MEepPEeKIIa A YCHOTO
MepeKIaay TeKCTiB
o [lepeBipka MMCbMOBO BUKOHAHUX 3 8 THXKIeHb
rpaMaTHYHUX BIIPaB
o MoaynpHa KOHTpOJIbHA poboTa Ne 7 8 TIXKIeHb
3M-I18 19 8—10
THXICHb
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 4 8 TIDKIEHD
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMAITHBOTO YMTAHHS
* [linroTOBKA O BUKOHAHHS MOIYIHHOT 4 9 THXKIEHD
KOHTPOJIbHOT po60oTu Ne 8 (0060B’s13K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 4 9 THKICHB
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 4 10 THKICHB
HE3HAMOMHMX CJIIiB Ta IX MEepPEeKIIa I yCHOTO
NepeKIaay TEKCTIB
o [IepeBipka MMCHbMOBO BUKOHAHUX 3 10 THKICHD
rpaMaTUYHUX BIIPaB
e MonaynbpHa KOHTpOJIbHA po6oTa Ne 8 10 THXKIEHD
3M-I19 19 1113
THXIEHb
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 4 11 TvKIEHb
M1JITOTOBKA IpaMaTUYHO1 TEMHU Ta IMiArOTOBKA
JIOMaITHHOTO YMTAHHS
* [TigroToBKa 10 BUKOHAHHS MOYJIBHOL 4 12 THXICHD
KOHTpPOJIbHOT poO6oTH Ne 9 (060B’s13k0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 4 12 THKICHB
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 4 13 THKICHB
HE3HAMOMMX CJIIB Ta IX MepeKIIa I yCHOTO
NepeKIaay TeKCTIB
o [lepeBipka MICHBMOBO BUKOHAHHX 3 13 THKIEHD
rpaMaTHYHUX BIIPaB
MopynbpHa KOHTpOJIbHA poboTa Ne 9 13 THXKIEHb
3M- 19 13—-15
1110 TIOKICHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 4 13 THKICHB
MirOTOBKA rpaMaTUYHOI TEMH Ta MiArO0TOBKA
JIOMAIIHHOTO YUTAHHS
* [TigroToBKa 10 BUKOHAHHS MOYJIBHOL 4 14 TwKIeHb

KOHTpOJIbHOT po6oTH Ne 10 (000B’s13K0BE)
Koumponwvni 3axoou:




e YCHE ONUTYBaHHSA

o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB
HE3HaHOMUX CIIIB Ta iX Mepekaja st yCHOTO
NepeKIaay TeKCTiB

o [lepeBipka MMCbMOBO BUKOHAHUX
rpaMaTHYHUX BIIPaB
MoaynbsHa KOHTpoJIbHA poboTa Ne 10

DS

14 TmxneHn
15 Tk neHn

15 Tk neHn

15 THXKneHb

3M-I3

[TinroToBKa MUCHMOBOTO TTEPEKIIATY
KoHTponbsHuii 3axi1

o [IucemoBui nepexian
(000B’s13K0BE)

[linroToBKa /10 1ICIIUTY
Konmponwvni 3axoou:
e IcriuT

20

Cecig

Pazowm:

135

1. MeToauka mpoBEeIEHHS Ta OIIHIOBAHHS KOHTPOJLHOTO 3axony mist 3IM-T15.

MiHiMaIbHUM 00CcAT 0a30BUX 3HAHB, IIT0 HEOOX1JHMH U 3acBoeHHS 3M — I15:
YUTATH, MEPEKIaaTh Ta repekasyBatu Tekctd ““The Ecosystem”, “Famine

and Flood™;

BHU3HAYNTH XaPAKTCPUCTHUKHN BIKHWBAHHA Ta IICPCKIAAy I'paMaTHYHUX SABUIILL

3a Temoro «IHdinitus» (The Infinitive);

HABYUTHUCS YTBOPIOBATHU Ta BXKUBATHU Pi13HI rpamMaTHyHi popmu iHDIHITUBA;
YUTaTH, IEPEKIIaJIaTH Ta AHOTOBAHO MEPeKa3yBaTU TEKCTH 3a (haXOBOIO

TCMATHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’s13k0Bi 3ax0oau KoHTpoJ0 3 3M-II5 — 15
OaJiB:

1 3aBmanag — 14 Ganis:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)

1 — yuTaHHA TEKCTY aHTNIIHCHKOIO MOBOIO

1 — ciucok He3HAMOMUX CIIIB Ta iX MepeKIa
1 — ycHuil nepeknaa TEKCTy

1 — nmepekas TekcTy




b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — 9uTaHHA TEKCTY aHTIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMUX CITiB Ta 1X MEPeKIIay
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

d 2(1+1)
1 — mrICEMOBUIT KOHCTIEKT MpaBmiI 3a TeMoro T he Infinitive
1 — mICchbMOBO BUKOHAHHI TpaMaTH4Hi BripaBu 3a TeMoro The Infinitive

1 3aBganus (14 0aiiB) He € 000B’I3KOBUM.

2 3aBnaHHsd — 15 Ganis:

Buxonanug MKP Ne 5

MonynbsHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,5 OamiB. MoaynbHa KOHTpPOJIbHa po0OTa BBAKAETHCS 3apPaXOBaHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUIBHUX BiAIOBIICH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIbHOI IUCLUUIUTIHHU, KIJIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HEe MoOxe mepeBuiyBatd 60% Big MaKCUMalbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Orminka 3a okpemi (200 yci) MOAYJl 3HMKYEThCA Y pa3i MPOMYCKIB 3aHITh
CTyJEHTOM. 3a KOJKHE MPOMYIICHE 3aHATTS 3HIKYEThcs 0,5 Ganu, ajne MiHIMalIbHA
OIIIHKA TICTISl 3HWKEHHA HEe MOke OyTu Hik4da 60% BiJ MaKCUMaJIbHO MO>KJIUBOI.

MaxkcumaibHa cyma 000B’s3k0Bux 6amis 3 3M-I15 — 15 Oanis.

2 3apaaHHs (15 GaniB) € 000B’I3KOBUM.



2. MeTtoarka MPOBEICHHS Ta OHiHI-OBaHHSI KOHTPOJIBHOI'O 3aX04y JJIA 3M-II6.

MiniMansHuM 00caT 0a30BUX 3HAHB, III0 HEOOXI1THUH 11 3acBoeHHs 3M — I16:

YHTATH, MEepeKiIagaTu Ta nepekazyBatu tekctu “Global Warming”, “Kyoto
Revisited”;

BU3HAYATH XapaKTEPUCTUKU BKUBAHHA Ta MEPEKIIAAY TPAMATUYHUX SBHII]
3a Temoro «['epynuiii» (The Gerund);

HABYUTHCS YTBOPIOBATH Ta BXXMBATH Pi3HI IpaMaTHU4HI (GOpPMHU repyHIis;
YHUTATH, IEPEKIIAIaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTHU 3a (HaxOBOIO
TEMATHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’A3K0Bi 3ax0au KOHTpOJ0 3 3M-II6 — 15
OaJiB:

1 3aBmaHHsg — 13 OaiB:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)

1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy

1 — mepekas TekcTy

b) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO

1 — ciucok He3HAMOMMX CJIIB Ta iX MepeKiIal
1 — nmucpbMoOBE BUKOHAHE SUMMary

1 — ycue Summary

c) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary

1 — ycue Summary

d) 1(05+0,5)

0,5 — mucerMOBHIA KOHCIIEKT TpaBuJI 3a Temoro The Gerund
0,5 — mMcpMOBO BUKOHAHHI TpaMaTH4HI BITpaBH 3a Temoro The Gerund

1 3aBnanus (13 6ainiB) He € 000B’I3KOBUM.

2 3aBmanHHg — 15 Gais:

10



Buxkonanug MKP Ne 6

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxHe 3aBmaHHS
0,5 OamiB. MopaynbHa KOHTPOJBbHAa pPOOOTa BBAXKAETHCSA 3apaxOBAHOIO, SIKIIO
HaJaHO MiHIMYM 18 mpaBUIbHUX BiAMOBIIEH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCS CTYJIEHTOM
MICJIA CTPOKIB, BU3BHAUCHHUX y MPOTpaMi HaBYAIbHOI TUCIMIUTIHYU, KIJIBKICTh OaJiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HEe MoOke mnepeBuiryBaTd 60% BiJl MaKCHUMAaJbHO
MOXJIMBOI JUIS 1T1€T (POPMU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYJl 3HMXKYETHCA Y pa3i MPOMYCKIB 3aHITh
CTYJIEHTOM. 3a KOXKHE MPOMYIIEHEe 3aHATTS 3HIWKYy€eThcs 0,5 O6anmu, ane MiHIManbHA
OIliHKA MICJISl 3HMXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.
MakcumanbHa cyMa 000B’s13k0BUX 0aniB — 15 Ganis.

2 3apmanHs (15 GaniB) € 000B’SI3KOBUM.

3. MeToarKa MPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-II7.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 110 HEOOX1AHMH U1 3acBoeHHS 3M — I17:

— 4yTaTd, nepekiagati ta nepekasyBatu Tekctm “Natural Wonders of the
World”;

— BHU3HAYaTH XapaKTCPUCTUKHU BXKUBAHHS Ta IMEPEKiIaly rpaMaTHYHUX SBHIIL 32
temoro Participle | ta Participle II;

— HaBYHUTHCS YTBOPIOBATH Ta BXKMBaTH pi3Hi ¢popmu Participle I ta II;

— YHTaTH, MIEPEKIIAIaTH Ta aHOTOBAHO IEPEKa3yBaTH TEKCTH 3a (aXOBOIO
TEMaTHKO¥O.

MaxkcumanbHa cyma 0ajiB 3a 000B’A3K0Bi 3ax0aM KOHTpoJ0 3 3M-II/7 — 15
oaJiB:

1 3aBnandsa — 13 OaiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTNIIHCHKOIO MOBOIO
1 — cniucok He3HAMOMUX CIIIB Ta IX MepeKial
1 — ycHuii nepekaa TEKCTy
1 — nmepekas TekcTy

11



b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CITIB Ta iX MepeKIIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — 9uTaHHA TEKCTY aHTIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMUX CITiB Ta 1X MEPeKIIay
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

d) 1(0,5+0,5)
0,5 — nmrchbMOBHIA KOHCIIEKT TpaBHJI 3a TeMoto The Participle
0,5 — mMcrMOBO BUKOHAHHI TpaMaTU4HI BIIpaBu 3a Temoto The Participle

1 3aBmanHs (13 6aniB) He € 000B’I3KOBUM.

2 3aBaauayg — 15 Oauis:

Buxonanug MKP Ne 7

MonynsHa KOHTpOJIbHA poboTa ckianaethes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,5 OamiB. MoaynbHa KOHTPOJbHAa pPOOOTa BBAXKAETHCSA 3apaxOBAHOO, SKIIO

HaJaHO MiHIMYM 18 npaBUIBHUX BiAIOBIICH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
MIiCIsl CTPOKIB, BU3HAYEHUX y MPOrpamMi HaBYAJIbHOI AUCIMILIIHY, KUIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke nepeBuuryBatd 60% BiJl MakCHMAaJbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Orminka 3a okpemi (200 yci) MOAYJl 3HIKYEThCA Y pa3i MPOMYCKIB 3aHATH
CTyJeHTOM. 3a KOXKHE MPONyIIeHe 3aHATTs 3HUKYyeThes 0,5 Oanmu, aje MiHIMaabHa
OIIIHKA TICIISl 3HWKEHHA HEe MOke OyTu Hivk4da 60% BiJ MaKCUMaJIbHO MO>KJIABOI.

MaxkcumanbHa cyma 000B’a3k0Bux 6ainis 3 3M-I17 — 15 Oaunis.

2 3apnanHs (15 GaniB) € 000B’ I3KOBUM.
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4. MeTtoarka MPOBEICHHS Ta OHiHIOBaHHH KOHTPOJIBHOI'O 3aX0o4y JJIA 3M-II8.

MiniMansHuM 00ciaT 0a30BUX 3HAHB, III0 HEOOXI1THUH 11 3acBoeHHs 3M — I18:

YHTaTH, TEpeKiazaTH Ta mepekadyBatu tekctu “Decision-making on the
Solution of Ecological Problems”;

BU3HAYATH XapaKTCPUCTUKU BXKMBAHHS Ta MEPEKIIaAy TPAaMAaTUYHUX SBHII]
3a temoro Conditional Sentences (Type O, I, 11, 11);

HABYUTHCS yTBOptoBatu Ta BxuBaTu Conditional Sentences (Type O, I, II,
).

YUTATH, IEPEKIIAIaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTHU 3a (haxOBOIO
TEMaTHKOIO.

MaxkcumanbHa cyma 0ajiiB 3a 000B’s13K0Bi 3axoau KoHTpoJ0 3 3M-II8 — 15
OaJiB:

1 3aBmanHg — 13 Gais:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)

1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOO

1 — ciucok He3HAMOMMX CIIIB Ta iX MepeKiIaa
1 — ycHumii nepexnaj TEKCTy

1 — mepekas TekcTy

b) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO

1 — ciucok He3HAMOMHUX CJIiB Ta X MepeKiIan
1 — nmucpbMOBE BUKOHAHE SUMMary

1 — ycue Summary

c) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMHUX CJIiB Ta 1X Mepekian
1 — nmuceMoOBe BUKOHAHE Summary

1 — ycue Summary

d) 1(05+0,5)

0,5 — nucpMOBHIT KOHCTICKT mpaBwit 3a Temoro Conditional Sentences (Type O, I, I,

1)

0,5 — nMMCHbMOBO BMKOHAHHI rpaMaTuyHi BIpaBu 3a Temoro Conditional Sentences
(Type O, I, 11, 1)
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1 3aBnanns (13 0aniB) He € 000B’ I3KOBHM.

2 3aBaanHs — 15 Oais:

Buxounanng MKP Ne 8

MoynbHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxxHe 3aBnaHHA
0,5 OGamiB. MoaynpHa KOHTpOJbHA pPOOOTAa BBAXKAETHCS 3apaxOBaHOIO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Sxmo 3axoau 00OB’SI3KOBUX ()OPM KOHTPOJIIO BUKOHYIOTHCS CTYIEHTOM
HIiCJIsl CTPOKIB, BUBHAYEHUX Y MpOTrpamMi HaBYAIbHOI AUCHUIUIIHY, KIJTbKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke nepeBuuryBatd 60% BiJl MaKCHUMAaJIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Ouinka 3a okpemi (200 yci) MOAyJl 3HMXKYEThCA Y pa3l MPOMYCKIB 3aHITh
CTYJCHTOM. 3a KOXKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMAaJIbHO MOYKJIUBOI.

MakcumanbHa cyma 000B’a3k0Bux 6aiis 3 3M-I18 — 15 Ganis.

2 3aBnanHs (15 6aniB) € 000B’I3KOBUM.

5. MeToanka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3axoay st 3M-I19.

MinimManbHUHA 00csAT 0a30BUX 3HAHD, 1110 HEOOX1AHMH A1 3acBoeHHs 3M — I19:

— YWTaTH, MEepeKiIajaTd Ta mepekasyBatu Tekctu “Strategy of national
ecological policy of Ukraine until 2020”;

— BHM3HAUYATH XapaKTEPUCTUKU BXKMBAHHSI Ta MepeKialy rpaMaTHYHUX SBUIIL
3a Temoro Indirect Speech;

— HaBUYUTHCS yTBOpIOBaTH Ta BxkuBatH Indirect Speech.

— YUTaTH, MEPEKIaJaTH Ta aHOTOBAHO TIEPEKa3yBaTH TEKCTH 32 (PaxoBOIO
TEMATHKOIO.

MakcumanbHa cyma 6ajiiB 3a 000B’s13k0Bi 3ax0au KoHTpoaw 3 3M-II9 — 15
oaJiB:

1 3aBnannsg — 13 Oais:

JuB. Tabm1. 2.2
14



a) 4(1+1+1+1)
1 — yUTaHHA TEKCTY aHTNTIHCHKOI0 MOBOIO
1 — ciucok He3HAMOMUX CITIB Ta IX MepeKIa
1 — ycHuil nepekaa TEeKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — 9uTaHHA TEKCTY aHTIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMUX CITiB Ta 1X MEPeKIIay
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOTO
1 — ciucok He3HAaMOMMX CIIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — nmucpMOBHIA KOHCTIEKT TIPaBHII 3a TeMoro Indirect Speech
0,5 — mMcrMOBO BUKOHAHHI TpaMaTH4HI BITpaBH 3a TeMoro Indirect Speech

1 3aBmanus (13 OamiB) He € 000B’I3KOBHM.

2 3aBnaHasg — 15 Gais:

Buxounannasg MKP Ne 9

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,5 OamiB. MoaynepHa KOHTpPOJIbBHa po0OOTa BBAKAETHCS 3apaxOBaHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUIHLHUX BiAMOBIICH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYICHTOM
MICTsl CTPOKIB, BU3HAYEHHUX Y TIPOrpaMi HaBYAIbHOI IUCIUIUTIHHU, KIJTBKICTh OaiB,
0 MOXKE€ OTPUMATH CTYACHT, HE MOXke mepeBuiryBatd 60% Big MaKCHMaJIbHO

MO>KJIMBOI JUTSI Ii€1 pOPMU KOHTPOJTIO.

Omuinka 3a okpemi (200 yci) MOAYJl 3HMXKYEThCA Y pa3i MPOMYCKIB 3aHATH
CTyJCHTOM. 3a KOKHE MPONyIIeHE 3aHATTS 3HUKYeThes 0,5 Oanmu, aje MiHIMalbHa
OIliHKA MICJISl 3HMXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.
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MakcumainbHa cyma 000B’s13koBuX 0aniB 3 3M-I19 — 15 6aiis.

2 3aBnanHs (15 6amiB) € 000B’I3KOBHUM.

6. MeToanka npoBEIEHHS Ta OIIHIOBAHHSI KOHTPOJBLHOTrO 3axoxy it 3M-I1110.

MiHIMaabHUH 00cAT 0a30BUX 3HAHB, 1110 HEOOX1AHMH U1 3acBoeHHS 3M — [110:

yuTaTH, I[EpeKiIaJaTH Ta IepekasyBaTtu Tekctu “State  ecological
monitoring”;

BU3HAYATH XapaKTEPUCTUKH BXKMBAHHS Ta IMEPEKIAAy TPAMATHIHUX SBHII]
3a TeMoro Subjunctive Mood. Revision;

HABYMTHCS yTBOPIOBATH Ta BxkuBaTH Subjunctive Mood. Revision;

UUTaTH, IICPCKIIAIAaTH Ta aHOTOBAHO IICPCKA3yBaTHU TCKCTHU 3a (baXOBOIO
TCMATHKOIO.

MakcumajnbHa cyma 6ajiB 3a 000B’s13Kk0Bi 3axoau koHTpoJi0 3 3M-II110 — 15
oaJiB:

1 3aBnanns — 13 Oais:

JuB. Tabm1. 2.2

a) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO

1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu# nepexaa TeKCTy

1 — mepekas TekcTy

b) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMHUX CJIiB Ta iX MepeKian
1 — nmuceMoOBe BUKOHAHE Summary

1 — ycue Summary

c) 4(1L+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO

1 — cicok He3HAHOMUX CIIIB Ta iX MepeKIa
1 — nmuceMoOBe BUKOHaHE Summary

1 — ycae Summary
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d) 1(0,5+0,5
0,5 — nmruchbMOBHIA KOHCIIEKT TIPABHII 32 TeMoro Subjunctive Mood. Revision
0,5 — muCcbMOBO BHWKOHAHHI T'paMaTH4YHI BIIpaBH 3a Temoro Subjunctive Mood.
Revision

1 3aBganns (13 OaiiB) He € 000B’I3KOBUM.

2 3aBnaHHsg — 15 Ganis:

Buxonanug MKP Ne 10

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHS
0,5 OamiB. MoaynbHa KOHTPOJbHAa pPOOOTa BBAXKAETHCSA 3apaxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBUIBHHX BiAMOBIIEH.

SAxmo 3axoan 000B’A3KOBUX (OPM KOHTPOJIKO BUKOHYIOTHCA CTYJIEHTOM
HIiCIsl CTPOKIB, BU3HAYEHHUX Y IPOrpaMi HaBYAIbHOI IMCLUUILIIHH, KUIBKICTh OaiB,
10 MOXXE€ OTpUMAaTH CTYAEHT, HE Moxe mnepeBuiyBaTd 60% BiJ MakCHUMajbHO
MO>KJIMBOI JUISI 11i€1 JOPMHU KOHTPOJIIO.

Orminka 3a okpeMi (a00 yci) MOJYJIl 3HUKYETHCS Yy pasl MPOMYCKIB 3aHSThH
CTYZACHTOM. 3a KOXKHE MPOMYIIEHE 3aHATTA 3HIKYeThes 0,5 Ganu, ajne MiHIMallbHA
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’s3koBux OaiiB 3 3M-1110 — 15 6anis.
2 3aBaaHHs (15 0amiB) € 000B’I3KOBUM.

3. MeToanka NPoOBeICHHA TA OIHIOBAHHS IHINBIIVAJILHOI0 3aBIaHHs 3M-13
(MUCHLMOBOT0 EePEKJIAAY) .

[HauBiMyanbHe 3aBIaHHA 1€ MMCBMOBHM Tiepekiaa ABoX BUAIB TekcTiB (25 000
np.3HakiB). 1. Ilepexman tekcty 3a daxom (15000 np.3makiB). 2. Ilepexman
cycnuibHO-TIomiTuyHO1 Jiekcuku (10 000 ap.3HaKiB).

MiHimManbHMil 00CST THUCHMOBOTO TMEpEKIamy, M0 HEOOXITHUN NIl 3aCBOEHHS
HaBUYOK POOOTH 3 IHO3EMHHM TeKcToM ckiagae 25 000 ap. 3HaKIB 3a ceMecTp.

[lepexnan Texcty 3a (axoMm OIiHIOETbCS B S5 0aniB, Mepekia] CyCHuIbHO-

MOJITUYHOT JIEKCUKH OIIIHIOETHCSA TEXK B 5 OaliB. YChOro iHAUBIIyaIbHE 3aBAaHHS
omiHOeTHeS B 10 OamiB.
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InpuBinyansHe 3aBnanns (10 6anmiB) € 00OB’SI3KOBUM.

4. MeToIMKA MPOBEJIEHHS TAa OLIHIOBAHHS CEMECTPOBOI0 KOHTPOJIbLHOI'0
3aX0/1Y.

KoHTposib MOTOYHNX 3HAHb BUKOHYETHCSI HA 0a31 HAKOMUYYBaJIbHOI CHCTEMU
opraHizailii HaB4YaHHs.

dakTtiyHa cyMmMa OaiiB, SIKy OTPUMY€E CTYJIEHT 3a TEBHUN 3MICTOBHUMN
MOJYJb, Ma€ CKJIAJATUCA 13 pe3yJIbTaTiB BUKOHAHHS 3aXOJIB 3 KOHTPOJIIO, IO
3aIJIaHOBaHl 3a LKUM 3MICTOBHUM MOJyJeM, Ta YpaxoBYBaTH CBO€YACHICTh
(HampuKIaa: CTYIEHT, SKUM NPONMYCTHUB KOHTPOJBbHUM 3axijg 0e3 MOBaXHUX
OpUYUH a00 OTPUMaB HE3aJOBUIBHY OI[IHKY, Ma€ MpPaBO y THKHEBUUA TEPMIH
BUKOHATH 3aBJaHHS IIbOTO 3aX0/1y 3 MAaKCUMAJIbHOIO CYMOIO 0alliB, €KBIBaJICHTHOIO
OLIHIII He OuIbIINA HIXK "33JA0BUIBHO")  BHKOHAHHSA CTYJIEHTOM TIpadiky
HaBYAJILHOTO TPOIIECY.

CyMmu 0OaniB, sIKI OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMH MOJYJISIMU HaB-
YalbHOI JUCUUIUIIHM, (OPMYIOTh KUIBKICHY OIIHKY (0an ycHmimHOCTI) 3a
MiCYMKaMH TIOTOYHUX KOHTPOJIOIOUMX 3aXOIB CTyJE€HTAa 3 HaBYaJbHOI
TUCIUIUTIHU. Pe3ynapTaT TMOTOYHOTO KOHTPOJIIO 3aHOCATHCSA 10 1HTErpaIbHOI
BiJloMOCTi. PilieHHss mpo MOMycK CTyJeHTa J0 MiJCYMKOBOTO CEMECTPOBOTO
KOHTPOJIIO 3 KOHKPETHOI HaBYaJIbHOI JUCIUIUIIH perjiiaMeHTyeTbes [lonoskeHHsam
PO NPOBEACHHS MiJICYMKOBOTO KOHTPOJIIO 3HAaHb CTY/ICHTIB.

CTyneHT BBaXa€TbCs JAOIMYIIEHUM [0 MIJCYMKOBOIO CEMECTPOBOIO
KOHTpPOJIt0 (ICTIMTY), SIKIIO BIH BUKOHAaB BC1 BUAM POOIT, mepeadadyeHi podoyoro
HABYAJIBHOIO MPOrPAMOI0 JTUCUHUIUIIHK 1 HAOpaB 3a MOJYJIHHOIO CHCTEMOIO CYyMY
oainiB He menie 50 (50%) Big MakcHMalbHO MOKINBOI (000B’s3k0Ba yactrHa 100
OaJliB) 3a MPAKTUYHY YACTHHY.

[1iIcyMKOBHM KOHTPOJIEM 3HAHb CTY/ICHTIB € iCIHT.

Exk3amenarriiina poOoTa ckiaagaeTbes 3 4 3aBAaHb. | 3aBIaHHS OIIHIOETHCS B
50 Oauis, 2 3aBmanug B 20 6aimiB, 3 3aBgandsa B 10 6amis 1 4 3aBgannsa B 20 Oaiis.

Ex3amenarriiina po0oTa BBaKAa€ThCA 3apax0BaHOI0, SIKIIO CTY/IEHT HA0paB MIHIMyM
60 6autiB.

5 5 5 ®opma Ne H-5.05
OJECBHKHU JEPXKABHUNW EKOJIOI'TYHUUW YHIBEPCUTET

(oBHE HallMEHYBaHHsI BUILIOTO HABYAJILHOTO 3aKJIay)

PiBens BuIoi ocBiTH: Marictp
CrenianbHicts: 101 «Exogoriss» Cemectp 11
HaBuansHsa gucrminiiga: IHo3eMHa MoBa 3a IpodeCiiiHUM cOpsIMYBaHHIM
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EK3AMEHAIINHUM BLJIET Ne 1

1. Grammar Test 50 6.

2. Translate the text and put 5 questiontoit. ... 20 6.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” . 20 6.

3aTBep/KEHO Ha 3acifianHi Kadeapu iIHO3EMHUX MOB

[Tporokonm Ne  Bim *“__ ” 202 poky
3aBigyBau kadeapu, ro;ioBa HMKJI0BOI KOMicii II’anoBa LIO.
(i armc) (mpi3BuLIe Ta iHILiaIN)
Ex3amenarop
(mimuc) (mpi3Bue Ta iHimiamm)

3arajibHa KUIbKICHA OIlIHKA € YCEPeAHEHOK MDK KIJIbKICHOIO OIIHKOIO
NOTOYHUX KOHTPOJIOOUKX 3aX0AiB (rpada 3 BIAOMOCTI) Ta KUIBKICHOK OLIHKOIO
CEMECTPOBOI0 KOHTPOJIOKYOro 3axoay (rpada 4 BiZOMOCTI) 1 BUCTaBJISETHCS Y
rpadi 5 3a5KoBO-eK3aMeHalliiH1 BIJOMOCTI (3arajibHuil 0al yCIiIIHOCTI).

SIKIo CTyACHT 3a MiJICyMKaMH ICTIMTY OTPUMAaB 3arajbHy KUIbKICHY OLIHKY
MeHme 50% (Bim MakCHUMaJIbHO MOXJIMBOI Ha €K3aMEHi), TO BHKJIajgadyeM
BUCTABIIAETbCS y rpadi S 3aranbHUil 0an yCHINIHOCTI, KU JOPIBHIOE Oaury
ycnimHocti Ha icnuTi (rpada 4).

IlIkana ouinroBanHs 3a cucremoro EKTAC Ta cucreMor0 yHiBepcuTeTy

34 MKATOM0 3a HalllOHaJILHOI CHCTEMOIO 3a.CI/ICTeMOIO
ECTS YHIBEpCHUTETY
11 icnuTy JUISL 3ATTHKY (B mporieHTax)

A 5 (BiIMiHHO) 3apaxoBaHO 90 - 100

B 4 (mob6pe) 3apaxoBaHO 82 - 89

C 4 (mobpe) 3apaxoBaHO 74 - 81

D 3 (3a10BIJIBHO) 3apaxoBaHO 64-73

E 3 (3a10BiIBHO) 3apaxoBaHO 60 - 63

FX 2 (He3aJ0BUIBHO) HE 3apaxoBaHO 35-59

F 2 (He3a0BIIILHO) HE 3apaxoBaHO 1-34

3. PEKOMEHJAIIIL O CAMOCTIMHOI POBOTH CTYJEHTIB

3.1.  Mooyrs 3M-II5 “The Ecosystem ”, “Famine and flood ”, The Infinitive;
nepekaa0 mekcmy 3a oaxom ma nepexiad cyCnilbHO-NONMUYHO20 MEeKCmY 3
AH2NIUCHKOT HA YKPAIHCLKY MOBY.
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Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

D DW= AW —

DB W -

1.

3.1.1. [ToBuanHs

a) Text A. “The Ecosystem”. “Famine and flood”.

. [IpounTaTu TEKCT aHTIIICHKOIO0 MOBOIO.

. BunucaTu 3 TekcTy HOBI Cll0OBa Ta 3p0OUTH X MEpEKIIa/l.

. YCHO nepeK1acT TeKCT 3 aHTJIUCHKOI Ha YKPaiHChKY MOBY.
. [lepekasaTu TekcT.

b) Hdowmaiine untanns. [lepekian TekeTy 3a haxom.

. CamocTiifHO BUOpaATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX NEpEKIa.

. YCHO MepeKIacTh TEKCT 3 aHTJIACHhKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

c) [omarniHe untaHHs (epeKIa CyCHiIBHO-TIOITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeKyIacTi TeKCT 3 aHTJIACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

d) Grammar:
The Infinitive

3poOUTH KOHCIIEKT PaBUi BXXKUBAHHS 1HPIHITUBY Ta Oro GopM y aKTUBHOMY

Ta ITIACUBHOMY CTaHaX.

2.

e

BukoHaTn TpeHyBaJgbHI IpaMaTHYHI BIPABH.

3.1.2. [lutanHs 1151 caMOTIepEeBIpKH

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?
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9.

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

3.2.  Mooyab 3M-II6 “Global Warming”, “Kyoto Revisited ”, The Gerund,;
nepexknao mekcmy 3a axom ma nepexiao CycnilbHO-NOAMUYHO20 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 55 - 64], [2, c. 47-50], [5, c. 94-100]

DN B W = B W N ==

DN AN WN -

3.2.1. [loByanHus

a) Text A. “Global Warming”. “Kyoto Revisited”.

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeK1acT TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.
. Ilepekazatu TeKcCT.

b) Jdomarne untanns. [lepexaag TEKCTY 3a haxoM.

. CaMocCTilfHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIHCHKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

c) JomariHe untaHHs (epekiiaa CyCIiIbHO-TMOITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClI0OBa Ta 3pOOUTH X TIEpeKIal.

. YCHO mepeKIacTi TeKCT 3 aHTJIIHCHhKOI Ha YKPaiHChbKY MOBY.

. [TucemoBe Summary.

. Ycue Summary
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d) Grammar:
The Gerund

1. 3poOuTH KOHCTIEKT MPaBUJI B)KUBAHHA FEPYH/IIO Ta HOTO (JOPM Y aKTUBHOMY Ta
aCMBHOMY CTaHaXx.
2. BukoHatu TpeHyBaJlbHI IPaMaTUYHI BIPABH.

3.2.2. IlutaHHs 711 caMOIIepeBIpKU

What is one of the biggest threats facing the planet?

What is the cause of temperature’s rising?

What have the researchers gathered over the past 20 years?

What is the global warming?

Do you know the real size of mankind’s contribution to the warming trend?

How should greenhouse-gas emissions be abated?

What is in a new paper for the Copenhagen Consensus project examined?

Are rising temperatures capable of causing great economic harm-though a lot?

How much would total economic damage fall on farmers?

10 Why could farmers no longer use some lands?

11.What does Mr. Cline investigate?

12.What is the Kyoto treaty?

13.What would a global carbon tax encourage?

14.Why do many rich countries refuse to sign the Kyoto treaty?

15. Does the last policy recognize that predictions of climate change encompass a
wide range of scenarios? Why?

16. What can you say about the possible damage costs?

17.Do you know three possible remedies?

18.Are given figures huge and very speculative?

CcoNOGORLDdDE

3.3. Mooyas 3M-IT7 “Natural Wonders of the World ”, The Participle; nepexnao
meKkcmy 3a ¢haxom ma nepexiao CyCRilbHO-NOIIMUYHO20 MEKCMY 3 AH2AIUCbKOI Ha
VKPQAIHCbK)Y MOBY.

Jliteparypa: [1, €. 65-79], [2, c. 42-47], [5, c. 84-94]
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1.

3.3.1. [loByanus

a) Text A. “Natural Wonders of the World .

. [IpounTaTu TEKCT aHTIAIICHKOI0 MOBOIO.

. BunucaTu 3 TexcTy HOBI ClIOBa Ta 3pOOUTH X TIEPEKIIaI.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOI Ha YKPaTHCHKY MOBY.
. Ilepeka3aTu TeKcT.

b) dowmaiine untanns. [lepekian TEKCTy 3a Gaxom.

. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOI'O TeKCTY 3a (paxom (8000 ap.3HaKiB
. Burnncatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MEPEKIIa.

. YCHO mepeKIacTu TEKCT 3 aHIJTIMChKOT Ha YKPAaiHCHKY MOBY.

. [TucemoBe Summary.

. Ycre Summary

c) JomarniHe untaHHs (EpeKIIaa CyCHiIbHO-TIOITAYHOTO TEKCTY)

. CaMOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeKy1acTi TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

d) Grammar:
The Participle

3poOUTH KOHCIIEKT ITPpaBUi BXKUBAHHS JIENPUKMETHUKA Ta HOro Gpopm y

AKTUBHOMY Ta ITACUBHOMY CTaHaXx.

2.

wWn e

No ok

BukoHaTn TpeHyBaJgbHI IpaMaTHYHI BIPABH.

3.3.2. [lutanHs 175 camonepeBipKu

What does the Victoria Falls offer?

Who reported the existence of the Falls?

When did David Livingstone reported the existence of the Falls to the outside
world?

What is the Hunters Road?

What does the list of commercial activities include?

What can you say about the Grand Canyon?

What can you say about the John Wesley?
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8. What did John Wesley write about the Grand Canyon?

9. What can you say about the Colorado river?

10.What is Gorge?

11.What is Vishnu schist?

12.How many years ago did Grand Canyon form?

13.What other magnificent wonders of the world do you know?

14. When did the region become more politically stable?

15.Why are new activities emerging and why is the industry becoming more and
more sophisticated?

3.4. Mooyaw 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type O, I, Il, I11); nepexnao mexcmy 3a
Gaxom ma nepexnad cycniibHO-NOJIMUYHO20 MEKCM) 3 AHRTITUCHOKOI HA YKPAIHCHKY
MO8).

Jlitepatypa: [1, c. 80-91], [2, c. 59-60], [5, c. 121-138]
3.4.1. IloByaHHs
a) Text A. “Decision-Making on the Solution of Ecological Problems .
. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.
. BuniucaTu 3 TekcTy HOBI CllIoBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO mepeK1acT TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TeKCT.

N W N —

b) Jdomarne untanns. [lepexaag TEKCTY 3a haxom.

. CaMocCTilfHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX MEPEKIal.

. YCHO MepeKIacT TEKCT 3 aHTJIUCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN B W =

C) JomariHe yntaHHs (epekiaa CyCibHO-TMOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClI0OBa Ta 3pOOUTH X TIEpeKIal.

. YCHO mepeKacT TeKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN AN WN -
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d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOuTH KOHCTIEKT MPaBUJ BXKUBAHHS YMOBHHUX PEUEHb Ta iX CTPYKTypH
noOy/1I0BU B peUCHHSIX.
2. BukoHatu TpeHyBaJlbHI IPaMaTUYHI BIPABH.

3.4.2. IlutaHHs 119 CaMOTIEPEBIPKH

=

Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of behavior?
What can we say from the viewpoint of social economic development?

Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.In what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?

15.Why do conflicts occur among specialists?

16.What is another problem of such inter-disciplinary cooperation?

17.Why is this discussion totally pointless?

18.What have we to realize?

Wo~NORWN

3.5. Mooyas 3M-II9 “Strategy of National Ecological Policy of Ukraine Until
20207, Indirect speech; nepexnao mexcmy 3a paxom ma nepexnad cycninoho-
ROJIIMUYHO20 MEKCNLY 3 AHATUCHLKOL HA YKPAIHCHKY MO8Y.

Jliteparypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
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3.5.1. IToBuanus
a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .

. [IpounTaTu TEKCT aHTIAIICHKOI0 MOBOIO.

. BunucaTu 3 TexcTy HOBI ClIOBa Ta 3pOOUTH X TIEPEKIIaI.

. YCHO mepeKIacTu TEKCT 3 aHIJIIChKOI Ha YKPaTHCHKY MOBY.
. Ilepeka3aTu TEKCT.

AW —

b) Hdowmaiine yntanns. [lepekian TekcTy 3a haxom.

. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOI'O TeKCTY 3a (paxom (8000 ap.3HaKiB
. Burnncatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MEPEKIIa.

. YCHO mepeKIacTu TEKCT 3 aHIJTIMChKOT Ha YKPAaiHCHKY MOBY.

. [TucemoBe Summary.

. Ycre Summary

BN W=

c) [omarniHe untaHHs (epeKIal CyCHiIBHO-TIOITHYHOTO TEKCTY)

. CaMOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeKy1acTi TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN AW =

d) Grammar:
Indirect speech

1. 3poOuTH KOHCIIEKT MpaBUJ BXKMBAHHS YMOBHHUX PEUYEHb Ta iX CTPYKTYpHU
noOyJJOBU B PEUEHHSX.
2. BukoHaTu TpeHyBaJlbHI FPAMaTH4YHI BIPABH.

3.5.2. [lutanHs 175 caMOTepeBIpKU

What are the main problems of pollutant emissions?

What can we observe in our environmental?

What have the competent authorities been continuously registering up?
What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters
require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of
population?

w0 E

o
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8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per cent),
78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and
restoration of forests fully ensure?

13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of
Ukraine?

3.6. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a ¢paxom ma nepexiao cycniibHo-noaAmMuYHo20
meKcmy 3 aH2IUCLKOI Ha YKPAIHCLKY MOB).

Jliteparypa: [1, c. 101-115], [2, c. 52-55], [5, c. 106-120]
3.6.1. [ToBuanHs
a) Text A. “State ecological monitoring .
. [IpounTaT TEKCT aHTITINCHKOIO MOBOIO.
. Buniucatu 3 TeKCTy HOBI cjioBa Ta 3poOUTH X MepeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIHUCHKOI Ha YKPaiHCbKY MOBY.
. [lepexa3atu TEKCT.

AW =

b) Jdomaine untanns. [epekiag TEKCTY 3a (haxoM.

. CamMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3p0OUTH X TIEPEKIIal.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN B W -

C) JomariHe yntaHHs (epeKan CyCiIbHO-TMOJITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHIIIOMOBHOI ra3zetu (2500 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX TIEpeKIal.

. YCHO nepeKIacT TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.

. IlucpmoBe Summary.

DWW N =
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5. Ycae Summary

d) Grammar:
Subjunctive mood. Revision.

1. 3po0OUTH KOHCTIEKT NPAaBUIJI BYKUBAHHS YMOBHUX PEUCHB Ta X CTPYKTYPH
noOy/10BU B peUCHHSIX.
2. BukoHaTH TpeHyBaJIbHI TpaMaTH4Hi BIIPABU.

3.6.2. ITutaHHs 119 caMOTNePeBIPKU

1. What can you say about the subjects of the state environment monitoring
system?

2. What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

3. Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

4. How many pollutants does the program of compulsory monitoring of air quality
include?

5. What does State Environmental Inspectorate (the Ministry of Environment)
provide?

6. How is water quality monitored?

7. What do water management organizations monitor?

8. What does Sanitary and Epidemiological Service (the Ministry of Health) carry
out?

9. What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?

11. What do the enterprises of the State Forestry Committee monitor and assess?

12. What do the monitoring laboratories of the Ministry of Agricultural Policy
carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone around
the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for
Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?

3.7 Inousioyanvue 3a60anns.

[naiBimyanbHe 3aBIaHHS 1€ TUCHbMOBUH TIepekiia 1BoxX BUI1B TekcTiB (25 000
JIp.3HAaKIB).

1. Ilepexnan Tekcty 3a paxom (15 000 np.3HakiB). [{Jist HOro BUKOHAHHS CTYACHT
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IIOBUHEH:
1. CamocTiitHO BUOpaTu TEKCT 3a paxoM (HayKoBa CTATTs y HAYKOBOMY
KypHa).
2. Harmmcatw cniucok He3HAHOMUX ISl HHOTO CITIB Ta iX TEpeKIIal.
3. Hanmucatn nuceMoBUM NEpeKnaj TEKCTY.
4.Y 3a3HauCHUU TEpPMIH 37aTH 3aBAaHHS (AHTUIMCHKANA TEKCT, CIHUCOK
HE3HAaHOMHX CJiB, mepekian) Bukiaaaady. CTyaeHT oO0OB’SI3KOBO MOBHUHEH
BKa3aTHU JHKEPEIIO, 3 IKOTO B3STUN NEPEKIAICHUNA TEKCT.

2. Ilepexnan cycniapHO-TIomiTHYHOI Jiekciku (10 000 ap.3uakiB). s iioro
BUKOHAHHS CTYJIEHT OBUHEH:
1. CaMocTiifHO BUOpaTH TEKCT 3a ¢haxoM (CTaTTs 3 aHTJIOMOBHOI I'a3€TH).
2. Hanncatu cniucok He3HAHOMUX JUIsl HBOTO CIIIB Ta iX MEpeKial.
3. Hanmucatn nucsmMoBUi NepeKnaz TEKCTY.
4.V 3a3HaueHU TEpMIH 3[aTU 3aBAaHHS (QHTIIMCHKUM TEKCT, CIHUCOK
HE3HAMOMHX CJIiB, mepeknan) Bukiaaady. CTyaeHT o0OB’A3KOBO MOBUHEH
BKAa3aTH JIKEPEIIO, 3 SIKOTO B3ATUH MEPEKIACHUN TEKCT.

4. IMTAHHA 10 3AXO0OA1IB IOTOYHOTI'O, IIACYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuy4Hi 3aBIaHHS JI0 MOJTYJIbHOI KOHTPOJIbHOI po6oTH Moyt 3M-I15.

Module control work Ne 5

[2, c. 38 —42], [3, c. 85— 100]

I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85 — 100]

2. You'll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 -42], [3, c. 85— 100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 —42], [3, c. 85 —100]

5. They must (to argue) about the right occupation to choose. [2, c. 38 — 42], [3, c.
85— 100]

6. (To teach) is a responsible task. [2, c. 38 —42], [3, c. 85 — 100]

My sister is glad (to teach) English. [2, c. 38 — 42], [3, ¢. 85 — 100]

8. I'msorry (not to help) you. [2, c. 38 —42], [3, c. 85 — 100]
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9. It seems (to rain) since the very morning. [2, c. 38 —42], [3, c. 85— 100]

10.They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3, c.
85 —100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85 —100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 — 42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 — 42], [3, c. 85 — 100]

20. Tomorrow I shall be busy: | expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85— 100]

21.The examination is said (to be) very difficult. [2, c. 38 —42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 — 42], [3, c. 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c. 38
—42], [3, c. 85 -100]

24.He (to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85 —100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85 —100]

28.She is sure (to come). [2, ¢. 38 — 42], [3, ¢. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85 - 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 —42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85— 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85— 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, ¢. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 — 42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, c. 38 — 42],
[3, c. 85— 100]
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38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85 — 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85— 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 — 42], [3, c. 85— 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85 — 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85— 100]

46.Ken failed (to make) new friends at school. [2, ¢c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 —42], [3,
c. 85-100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85 —100]

51.We (to wait) for ages. [2, c. 38 — 42], [3, c. 85— 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 —42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85— 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85 - 100]

59.1 happened (to ask) her about you when you came in. [2, c. 38 — 42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
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also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food
but also r the other organisms. They absorb the energy from sun and convert into
the chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of :
The heterotrophs are not able to make their own food. It includes the zooplankton,
larvae, bugs, higher animals and vertebrates. They are also as the
consumers. They are of different types. Basically, they are of herbivores and
carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. 'pamMaTuyH1 3aBAaHHS 10 MOAYIHHOI KOHTPOJIBHOI poO0oTH Moyt 3M-I16.

Module control work Ne 6
[2, c. 47 - 50], [3, c. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 —123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50], [3,

c. 113 -123]

(To walk) is very useful. [2, c. 47 —50], [3, ¢. 113 — 123]

You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —

123]

ok
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6. After (to finish) their homework the children went out to play. [2, ¢. 47 — 50],

[3,c. 113 -123]

The telephone is (to ring). [2, c. 47 —50], [3, c. 113 - 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, ¢c. 47 — 50], [3, c.
113 - 123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 —123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 —50], [3, c. 113
—123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
501, [3, c. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 —50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, c. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, ¢. 47 — 50], [3, c. 113 — 123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, ¢. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, ¢. 47 —50], [3, c. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 — 50], [3, ¢c. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 —50], [3, ¢. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 —123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 — 50], [3, c. 113 — 123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
501, [3, c. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

33.He felt better for (to write) the letter. [2, c. 47 —50], [3, c. 113 — 123]

34.She enjoyed (to give) parties. [2, ¢c. 47 — 50], [3, c. 113 — 123]

~
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35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 — 50], [3, c. 113 —123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, c. 113 — 123]

44.He turned at (to hear) her footsteps. [2, c. 47 — 50], [3, c. 113 — 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, ¢. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 — 50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 —50], [3, c. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 — 50], [3, ¢. 113 — 123]

52.1 do not remember (to hear) the legend before. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3, c.
113 - 123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 — 50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, ¢c. 113 - 123]

56.1 am fond of (to be given) presents. [2, c. 47 — 50], [3, c. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, c. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, c. 47 - 50], [3, c. 113 -
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 —123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[1, c. 55-56]
1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the
warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they need
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to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what
kinds of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic estimates
exclude the “amenity value” — the price people would be willing to pay to avoid
rising for reasons of convenience.

Yet totting up such Is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy : many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. 'pamMaTryH1 3aBAAHHS 10 MOIYJIbHOI KOHTPOJIBHOI poO0oTH Motyst 3SM-I17.

Module control work Ne7

[2, c. 42 — 47], [3, c. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, ¢. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
.42 —47],[3, c. 100 — 113]

3. (To see) that he was late he took a taxi. [2, ¢. 42 — 47], [3, ¢. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, c. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world. [2,
.42 —47],[3, c. 100 — 113]

B
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6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, I usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall. [2,
c. 42 —47],[3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
.42 —47],[3,c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, ¢. 100 — 113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 —47], [3, ¢. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c¢. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 —-47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42— 47], [3,
c. 100 —113]

23.(To finish) the book, I had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, | don’t know how I can help. [2, c. 42 —
47], [3, ¢. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, c. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, ¢c. 42 — 47], [3, ¢. 100 — 113]
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29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
.42 —47],[3,c. 100 —113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47], [3,
c. 100 — 113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3,c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42— 47], [3,
c. 100 —113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, c. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2,
c. 42 —47],[3, c. 100 — 113]

39.When (to speak) English, pay more attention to the word order. [2, c. 42 — 47],
[3, c. 100 — 113]

40.(To run) across the field, I fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
.42 —47],[3, c. 100 — 113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44 We admired the stars twinkling in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.Having reached the classroom, she became the object of many questions. [2,
c. 42 —47],[3, c. 100 — 113]

46.This was said as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, c. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
.42 —47],[3, c. 100 — 113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, c. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 — 47],
[3, c. 100 — 113]

53.Generally (to speak), | don't like boys. [2, c. 42 —47], [3, c. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]
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56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 — 47], [3, c. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3, c. 100 —
113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, ¢. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[1, c. 66-67]
1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint at
the magic of its myriad hues, strata, spires and gorges. The place is more than the
sum of its parts-so much more that neither the eye nor the mind of the beholder can

more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on the
earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of the
Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone, and
shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.
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4.4. I'pamaTryH1 3aBJIaHHS 10 MOJYJIbHOT KOHTPOJIbHOI poboTH Moayast 3M-I18.

Module control work Ne8

[2, c. 59 - 60], [3, c.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, I shall join you with pleasure. [2, ¢c. 59 — 60], [3, ¢.58
—60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 —60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, ¢. 59 — 60], [3,

.58 —60]

| would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

If you | had met her I (to tell) her about it. [2, ¢. 59 — 60], [3, ¢.58 —60]

8. If I leave town | never (to tell) my people where I am going. [2, ¢. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 - 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, ¢. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c¢. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, c. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 —60], [3, ¢.58 —60]

~N o
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19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, c.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 -60], [3, ¢.58 —60]

23.1f these shoes were not too big for me, | (to buy) them. [2, c. 59 — 60], [3, ¢.58 —
60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, .58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, c. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, c. 59 — 60],
[3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c. 59
—60], [3, ¢.58 —60]

30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 —60], [3, ¢.58 —60]

31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,

.58 —60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, ¢. 59 — 60],
[3, ¢.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, ¢. 59 — 60], [3,
.58 —60]

34.1f | don't manage to finish my report today, | (to stay) at home tomorrow. [2, c.
59 - 60], [3, ¢.58 —60]
35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60], [3,

.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, c. 59 — 60], [3,
.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, ¢. 59 — 60], [3,
.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text. [2,
c. 59 -60], [3, c.58 —60]

39.1f I (to be) a musician, | should be very happy. [2, c. 59 — 60], [3, ¢.58 —60]

40.If Barbara (to get) up at half past eight, 8 would have been late for school. [2, c.
59 —60], [3, ¢.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, ¢. 59 —
60], [3, c.58 —60]

42.1 should be very glad if he (to come) my place. [2, ¢. 59 — 60], [3, ¢.58 —60]
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43.1f he (to live) in Odessa, he would go to the sea every week. [2, c. 59 — 60], [3,
.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, c.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2, c. 59 —
60], [3, c.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —60]

49.1f he had warned me, | (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f I (to have) this rare book, | should gladly lend it to you. [2, c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2, c. 59
—60], [3, ¢.58 —60]

52.He never (to phone) you if | hadn't reminded him to do that. [2, c. 59 — 60], [3,
.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2, c.
59 —60], [3, ¢.58 —60]

54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3, ¢.58 —
60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2, ¢. 59 —
60], [3, ¢.58 —60]

56.If you (to put) the ice cream into the refrigerator, it would not have melted. [2,
c. 59 -60], [3, ¢.58 —60]

57.1f | (to know) the result now, | would phone her immediately. [2, ¢. 59 — 60], [3,
.58 —60]

58.1f you had let me know yesterday, | (to bring) you my book. [2, ¢c. 59 — 60], [3,
.58 —60]

59.1f it (to snow), the children will play snowballs. [2, c. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, | should not be able to enjoy Byron's poetry. [2, c. 59
—60], [3, ¢.58 —60]

[1, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
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verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a

analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as the
'nation-wide' interest. Another problem of such an interdisciplinary IS
the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists laugh
at the narrow specialists for 'knowing everything about nothing. The
goes as far as the issue of 'science an non-science, where only exact experimental
work as scientific, while its processing as a basis for decision-making
is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, I) cooperation, J) remote.

4.5. I'pamaTuy4Hi 3aBIaHHS JI0 MOJIYJIbHOI KOHTPOJIbHOI po0oT Moy 3M-I19.

Module control work Ne9

[2, c. 61—62], [3, C. 44 - 47]

I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

1. | knew they (to wait) for me at the metro station and | decided to hurry. [2,
. 61-62], [3, c. 44 — 47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 - 62], [3, c. 44 —
47]

3. | was afraid that the little girl (not to be) able to unlock the front door and (to

go) upstairs to help her. [2, c. 61 - 62], [3, c. 44 — 47]

He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 — 47]

5. Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 — 62],
[3, C. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,
. 61-62], [3, c. 44 — 47]

B
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7. He understood that the soldiers (to arrest) him. [2, ¢. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —62], [3, c. 44 — 47]

9. I suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62], [3,
C. 44 — 47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61 — 62], [3, c. 44 — 47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2, c. 61 —
62], [3, c. 44 — 47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61 — 62], [3,
C. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
C. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 — 62],
[3, C. 44 — 47]

18.He said he (to come) to the station to see me off. [2, ¢. 61 — 62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61 — 62], [3, c. 44 — 47]

23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62], [3,
C. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61— 62], [3,
c. 44 — 47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that I (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 —62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, c. 44 — 47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 —62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, c. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 —62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, c. 61 — 62], [3, c. 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, C. 44 — 47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]
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39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61— 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 — 62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, c. 61 — 62], [3, c. 44 —
47]

43.He said that his health greatly (to improve) since then. [2, ¢. 61 — 62], [3, c. 44 —
47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62], [3,
c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 — 62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61— 62], [3,
C. 44 — 47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
c. 44 — 47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61 — 62], [3,
c. 44 — 47]

49.She said that she (to sleep) in the open air. [2, c. 61 — 62], [3, c. 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if | (to see) him before. [2, c. 61 — 62], [3, c. 44 — 47]

52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get here.
[2, c. 61 -62], [3, c. 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62], [3,
c. 44 — 47]

55.He told me that | (to work) too hard and | (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
c.61-62], [3, c. 44 —47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 —62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]
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[1, c. 92-93]

1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and Azov
seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters
immediate reforming towards transfer to integrated management of water
resources. Functions of management in the are of protection, usage and restoration
of waters are allocated between different central executive authorities that result in
their overlapping, different of provisions of environment protection
legislation and inefficient usage of budget funds.

Drinkable water supply of Ukraine almost by 80 per cent by usage
of surface waters. Ecological status of surface water bodies and quality of water in
such bodies are the main factors of sanitary and epidemiological of
population. At the same time most of water bodies by level of pollution are
attributed to those, which are polluted and much polluted.

Underground waters of Ukraine in many regions by their quality do not meet

the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural

settlements of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E) requirements,
F) covers, G) is ensured, H) suitable, I) requires, J) depletion.
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4.6. 'pamaTuyH1 3aBIaHHS 10 MOAYJIBbHOI KOHTPOJILHOI poboTH Moyt 3M-1110.

Module control work Ne10

[2, c. 51 —55], [3, ¢. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 — 55],
[3, c. 61 —62].

2. | wish | (to have) a season ticket to the Philharmonic next winter. [2, c. 52 —
55], [3, c. 61 — 62].

3. | wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c. 52 — 55], [3, c. 61 — 62].

4. 1 love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 -55], [3, c. 61 - 62].

5. I wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c. 61 -62].

6. | wish you (to send) word as soon as you arrive. [2, ¢. 52 — 55], [3, c. 61 — 62].

7. 1'wish I (not to have) to do my homework every day. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

8. I wish you (to go) skiing with me yesterday: | had such a good time! [2, c. 52 —
55], [3, c. 61 — 62].

9. I'wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish I (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, c. 52 — 55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, c. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1 wish | (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, c. 61 — 62].

14.1 wish we (to meet) again next summer. [2, c. 52 —55], [3, c. 61 — 62].

15.Don't you wish you (to see) that performance before? [2, c. 52 — 55], [3, c. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c. 61 -62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, ¢. 52 — 55], [3, c. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, c. 52 — 55], [3, c. 61 — 62].

20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3, c. 61 —
62].

21.The boy is sad. He wishes he (not to break) the window. [2, c. 52 — 55], [3,
c. 61 —62].
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22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, . 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, c. 61 — 62].

24.1 wish it (to be) sunny. [2, c. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, c. 52 — 55], [3, ¢c. 61 —
62].

26.She wishes she (to live) in Kyiv. [2, c. 52 — 55], [3, c. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, ¢. 52 — 55], [3, c. 61 — 62].

28.1 wish I (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish I (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61 —62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 —55], [3, c. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 -62].

35.The child is crying, | wish | (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61 —62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 —55], [3, c. 61 — 62].

37.1 wish I (to know) it was your favourite writer. 1 would have bought the book
for you. [2, c. 52 — 55], [3, ¢. 61 — 62].

38.1 wish I (to know) French. [2, c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 -62].

40.1 wish you (to read) more English books in future. [2, c. 52 — 55], [3, ¢c. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, c. 61 — 62].

42.They need a singer for the choir. I wish | (can) sing. [2, ¢. 52 — 55], [3, ¢. 61 —
62].

43. 1 wish I (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. I wish | (can). [2, c. 52— 55], [3,
c. 61 —62].

45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 —62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61 —62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, ¢. 52 — 55], [3,
c. 61 —62].
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49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, c. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. | am sure you would like it. [2, c. 52 — 55], [3,
c. 61—62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 —55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, ¢. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 —62].

58.1 wish I (to be) only joking. [2, ¢c. 52 — 55], [3, c. 61 — 62].

59.1 wish | (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[1, c. 102]

1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out
hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic substances,
the main pollutants, heavy metals and pesticides. 8 water bodies are observed for
chronic toxicity of water. The indicators of contamination of surface
waters are also determined.

The State Environmental Inspectorate (the Ministry of Environment)

a selective sampling and obtains data on more than 65 parameters that
are measured.

The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and reservoirs
in zones around nuclear power plants. Water quality is monitored using physical
and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation systems, 1 firth
and 5 multi-purpose channels. In addition, as a part of radioactive monitoring,
water management organizations monitor of radio nuclides in surface
waters.
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The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, 1) particles, J) radioactive.

4.7. 3aB1aHHS 10 iCIIUTY.

1 3aBmaHHA
Grammar Test

Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, ¢. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, c.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, c.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [ 3, c. 100-
113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [ 3, c.
100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
47], [ 3, c. 100-113]
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17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, . 100-113]

18. (To run) across the field, I fell and hurt my ankle. [2, c.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47],[ 3, c. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25. It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming I won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.1f | (to have) a big house, I ( to invite) friends. [2, c. 59-60], [3, c. 55-60]
35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, ¢. 59-60],
[3, c. 55-60]
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41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]

44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, . 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBIaHHS

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement, it
should let him know the arguments for and against any policy, and it should reflect
and give voice to the desires of the people as a whole. Naturally, there is no
censorship in Great Britain, but in 1953 the Press Council was set up. It is not an
official body but it is composed of people nominated by journalists, and it receives
complaints against particular newspapers. It may make reports which criticize
papers, but its reports have no direct effect

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.
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3 3aBHaHHA
I1l. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as
follows.

“The Times” (1785) is called the paper of the Establishment. Politically it is
independent, but is generally inclined to be sympathetic to the Conservative party.
It’s not a governmental organ, though very often its leading articles may be written
after private consultation with people in the government. It has a reputation for
extreme caution, though it has always been a symbol of solidity in Britain. Its
reporting is noted for reliability and completeness and especially in foreign affairs.
Its reputation for reflecting or even anticipating government policy gives it an
almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described as
“radical”. It was favourable to the Liberal party and tends to be rather closer in
sympathy to the Labour party than to the Conservatives. It has made great progress
during the past years, particularly among intelligent people who find “The Times”
too uncritical of the Establishment.

“The Daily Telegraph” (1855) is the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian™.

IV. Write about “My scientific interests” (15 sentences)
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5. JITEPATYPA JJIA BUBYUEHHSA JUCHUIIVITHA

OcHOBHA

1. MeroauuHi BKa3iBKM 3 aHTJIIHCBKOI MOBM ISl CTYIEHTIB V Kypcy. PiBeHb
MiATOTOBKA Marictp, HanpsiM MiArOTOBKHM — yci HanmpsaMu. Ykianad: [1'sHoBa
L.YO. -x.¢.H., nouent -Oneca, OJAEKY, 2016 p. - 115 ¢. — Anrii. MoBoro.

2. MetonuuHi BKa3iBKM 3 TpaMaTHKH aHTIMChKOI MoOBH i ctyaeHTiB |, 1l
Kypcy JnAeHHOi ¢dopMu HaByaHHS. HampsMm miArOTOBKM — yCi HalpsiMKH.
VYxknamgaui: [I'saoBa LYO. — x.¢.H., monient, [llotoBa-Hikonenko I'.B. — k.¢.H.,
nouent — Oneca: OJEKY, 2009. — 72c.
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Bua. — 3-te BuA. — K.: Ocsita, 1993. — 320 c.

4. HaBuanpHHMI MOCIOHMK 3 TpaMaTHKW aHTJIACHKOI MOBU JUIsl MaricTpiB Ta
acnipaHnTiB. HanpsiMok miaroToBku - yci HanpsMu. Yknazaadi: [1'saosa LIO. -
K..H., monent, [lla6mit O.B. - cr. Bukmamau — Opeca, OJIEKY, 2006. —
425 c. — Auri. ta YKp. MOBOIO.

5. HaByanbHmii mMOCIOHMK 3 TpaMaTUKH aHridcbkoi MoBu: HaByanbHMiA
nocionuk. Yknagad: Illotoa-Hikonenko I'.B. — k.¢d.H., gomnent. — Opeca:
BupaBunuuii gim «I'eapBeTnkay, 2020. — 192 ¢. — AHIJI. MOBOIO.

JloxaTkoBa JiTteparypa

6. The Oxford Russian Dictionary. Revised Edition. - Oxford, Oxford University
Press, 1997,- 1340 p.

7. bouk H.A., Kotuii I'.A., JIykbsiHoBa H.A. YueOHuUK aHTIIHMKCKOTO si3bIKa. B 2-
x T. - M: ToBapumectso "/lekont", 1994.

8. yoposun M.U. Situational Grammar. -M.: "IIpocsemenue”, 1986. -416 c.

9. KauanoB K.H., U3paunesuu E.E. [IpakTtuueckas rpamMmaThka aHTIUHCKOTO
s3pika. B 2-x 1. T.2. - K.: "MeToauka", 1995. - 304 c.

10.Knoys P.A. Reference Grammar for students of English. - M:
"IIpocsemenue”, 1979 -352 c.

11.Xopubu A.C. Konctpykuuu 1 060poThl aHTTIUHCKOTO si3bIKa. - M.: "bykier",
1994.-336 c.

12.111ax-Ha3aposa B.C., XKypasuenko K.B. Anrnumiickuii anst Bac: B 2-x gacTax.
-Kummnes: "Jlymuna", 1992.-653 c.

13.Hornby A.S. Oxford Advanced Learner's Dictionary of Current English. -
Oxford University Press, 1974. - 1035 p.

14.Murphy R. Essential Grammar in Use. A selfstudy reference and practice
book for elementary students of English. - Cambridge: University press, 1990.
-254 p.

15.Murphy R. Essential Grammar in Use. A selfstudy reference and practice
book for intermediate students of English. - Cambridge.'University press,
1988. -272 p.
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16.Enextponna aapeca 0i6miorekn OJEKY library@odeku.edu.ua

17.Enextponna aapeca pernosutapito OJJEKY http://eprints.library.odeku.edu.ua

18.EnexTponHna aapeca kadenpu inozemenux moB OJIEKY lang@odeku.edu.ua

19.HarmionansHi Ta iHO3eMHI I[HTepHeT- Ta JpyKOBaHI MEpIOJWYHI BUIAHHS
aHITIMCHKOI0 MOBOIO.
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